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La probabilità di ricevere un õunità ABO incompatibile  
Gruppo del 
ricevente  

Gruppo del donatore  
Calcolo della 
probabilità  

Probabilità di 
incompatibilità  

O O 0,46 x 0,46 = 0,21  -----  

A 0,46 x 0,41 = 0,19  0,19 

B 0,46 x 0,09 = 0,04  0,04  

AB 0,46 x 0,04 = 0,02  0,02  

A O 0,41 x 0,46 = 0,19  -----  

A 0,41 x 0,41 = 0,17 -----  

B 0,41 x 0,09 = 0,04  0,04  

AB 0,41 x 0,04 = 0,02  0,02  

B O 0,09 x 0,46 = 0,04  -----  

A 0,09 x 0,41 = 0,04  0,04  

B 0,09 x 0,09 = 0,01  -----  

AB 0,09 x 0,04 = 0,00  0,00  

AB O 0,04 x 0,46 = 0,02  -----  

A 0,04 x 0,41 = 0,02  -----  

B 0,04 x 0,09 = 0,00  -----  

AB 0,04 x 0,04 = 0,00  -----  
Totale  1,00  0,35  

Brecher ME, Hay SN, 2004  



How good luck can help usé..  

�‡ By chance alone there  is a 35% possibility  
that  a random unit  administered  to  a 
random patient  will  be incompatible  (Linden 
JV,  Transfusion  1992 ;  Greenwalt  TJ,  
Transfusion  1997 ).   

 

�‡ Even if  an incompatible  unit  is transfused,  
the  likelihood  of  of  fatal  outcome is less 
than  10% (Linden JV,  Transfusion  2000 ).  


